# A CLASS OF FROBENIUS-TYPE EULERIAN POLYNOMIALS 

H.M. SRIVASTAVA, M.A. BOUTICHE AND M. RAHMANI


#### Abstract

The aim of this paper is to prove several explicit formulas associated with the Frobenius-type Eulerian polynomials in terms of the weighted Stirling numbers of the second kind. As a consequence, we derive an explicit formula for the tangent numbers of higher order. We also give a recursive method for the calculation of the Frobenius-type Eulerian numbers and polynomials.


1. Introduction. This paper is concerned with a class of Eulerian polynomials, which was named, in the last decade or so, as the Frobenius-type Eulerian polynomials $A_{n}^{(\alpha)}(x \mid \lambda)$ of order $\alpha \in \mathbb{C}$, and are usually defined by means of the following generating function:

$$
\begin{equation*}
\left(\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}\right)^{\alpha} e^{x z}=\sum_{n=0}^{\infty} A_{n}^{(\alpha)}(x \mid \lambda) \frac{z^{n}}{n!}, \tag{1.1}
\end{equation*}
$$

where $\lambda$ is a complex number with $\lambda \neq 1$. The numbers $A_{n}$, given by

$$
A_{n}^{(\alpha)}(\lambda):=A_{n}^{(\alpha)}(0 \mid \lambda)
$$

are called the Frobenius-type Eulerian numbers. Clearly, we have

$$
\begin{equation*}
A_{n}^{(\alpha)}(x \mid \lambda)=\sum_{k=0}^{n}\binom{n}{k} A_{k}^{(\alpha)}(\lambda) x^{n-k} . \tag{1.2}
\end{equation*}
$$

The classical Eulerian polynomials $A_{n}(\lambda)$, given by

$$
A_{n}(\lambda):=A_{n}^{(1)}(0 \mid \lambda),
$$

[^0]are defined by the following generating function:
$$
\frac{1-\lambda}{e^{z(\lambda-1)}-\lambda}=\sum_{n=0}^{\infty} A_{n}(\lambda) \frac{z^{n}}{n!}
$$
and can be computed inductively as follows:
$$
A_{0}(\lambda)=1
$$
and
$$
A_{n}(\lambda)=\sum_{k=0}^{n-1}\binom{n}{k} A_{k}(\lambda)(\lambda-1)^{n-k-1}, \quad n \geq 1
$$

These numbers play an important role in combinatorial analysis and number theory. Many authors investigated the Frobenius-type Eulerian polynomials (see, for example, $[\mathbf{4}, \mathbf{5}, \mathbf{1 0}, \mathbf{1 5}, 20]$ ). An application to the normal ordering of expressions involving bosonic creation and annihilation operators is presented in [14].

The purpose of this paper is to investigate several explicit formulas and representations associated with the Frobenius-type Eulerian polynomials of order $\alpha$ in terms of the weighted Stirling numbers of the second kind. As a consequence of some of these explicit formulas, we provide a recursive procedure for calculating $A_{n}^{(\alpha)}(x \mid \lambda)$.

We begin by recalling some classical definitions and notation as well as some results that will be useful in the rest of this paper. For $\nu \in \mathbb{C}$, the Pochhammer symbol $(\nu)_{n}$ is defined by

$$
(\nu)_{n}=\prod_{j=0}^{n-1}(\nu+j) \quad \text { and } \quad(\nu)_{0}=1
$$

The (signed) Stirling numbers $s(n, k)$ of the first kind are the coefficients in the following expansion:

$$
(x-n+1)_{n}=\sum_{k=0}^{n} s(n, k) x^{k},
$$

and satisfy the recurrence relation given by

$$
\begin{equation*}
s(n+1, k)=s(n, k-1)-n s(n, k), \quad 1 \leq k \leq n . \tag{1.3}
\end{equation*}
$$

The Stirling numbers of the second kind, denoted $S(n, k)$, are defined as the coefficients in the following expansion:

$$
x^{n}=\sum_{k=0}^{n} S(n, k)(x-k+1)_{k}
$$

The exponential generating functions of the Stirling numbers $s(n, k)$ and $S(n, k)$ are given by

$$
\sum_{n=k}^{\infty} s(n, k) \frac{z^{n}}{n!}=\frac{1}{k!}[\ln (1+z)]^{k}
$$

and

$$
\sum_{n=k}^{\infty} S(n, k) \frac{z^{n}}{n!}=\frac{1}{k!}\left(e^{z}-1\right)^{k}
$$

respectively.
For any nonnegative integer $r$, the $r$-Stirling numbers $S_{r}(n, k)$ of the second kind (see [3]) are obviously a generalization of the Stirling numbers $S(n, k)$ of the second kind. These numbers count the number of partitions of a set of $n$ objects into exactly $k$ nonempty and disjoint subsets such that the first $r$ elements are in distinct subsets. Their exponential generating function is given by

$$
\sum_{n=k}^{\infty} S_{r}(n+r, k+r) \frac{z^{n}}{n!}=\frac{1}{k!} e^{r z}\left(e^{z}-1\right)^{k} .
$$

For any positive integer $m$, the $r$-Whitney numbers $W_{m, r}(n, k)$ of the second kind (see $[\mathbf{1 6}, \mathbf{1 7}]$ ) are defined as the coefficients in the following expansion:

$$
(m x+r)^{n}=\sum_{k=0}^{n} m^{k} W_{m, r}(n, k)(x-k+1)_{k}
$$

and are given by their generating function as follows:

$$
\sum_{n=k}^{\infty} W_{m, r}(n, k) \frac{z^{n}}{n!}=\frac{1}{m^{k} k!} e^{r z}\left(e^{m z}-1\right)^{k}
$$

Clearly, we have

$$
W_{1,0}(n, k)=S(n, k)
$$

and

$$
W_{1, r}(n, k)=S_{r}(n+r, k+r) .
$$

The weighted Stirling numbers $\mathcal{S}_{n}^{k}(x)$ of the second kind are defined by (see $[7,8]$ ):

$$
\mathcal{S}_{n}^{k}(x)=\frac{1}{k!} \Delta^{k} x^{n}=\frac{1}{k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j}(x+j)^{n}
$$

where $\Delta$ denotes the forward difference operator. The exponential generating function of $\mathcal{S}_{n}^{k}(x)$ is given by

$$
\begin{equation*}
\sum_{n \geq k} \mathcal{S}_{n}^{k}(x) \frac{z^{n}}{n!}=\frac{1}{k!} e^{x z}\left(e^{z}-1\right)^{k} \tag{1.4}
\end{equation*}
$$

and $\mathcal{S}_{n}^{k}(x)$ satisfy the recurrence relation given by

$$
\mathcal{S}_{n+1}^{k}(x)=\mathcal{S}_{n}^{k-1}(x)+(x+k) \mathcal{S}_{n}^{k}(x), \quad 1 \leq k \leq n
$$

As a consequence of the generating function (1.4), we may deduce the following results:

$$
\begin{gather*}
\mathcal{S}_{n}^{k}(0)=S(n, k),  \tag{1.5}\\
\mathcal{S}_{n}^{k}(r)=S_{r}(n+r, k+r) \tag{1.6}
\end{gather*}
$$

and

$$
\begin{equation*}
m^{n-k} \mathcal{S}_{n}^{k}\left(\frac{r}{m}\right)=W_{m, r}(n, k) \tag{1.7}
\end{equation*}
$$

For further details, we refer the reader to the recent works $[\mathbf{1}, \mathbf{1 3}, \mathbf{2 1}$, $\mathbf{2 2}, \mathbf{2 3}, \mathbf{2 4}$ ] and the references cited therein.
2. Main results. In the following theorem, we give an explicit formula for the Frobenius-type Eulerian polynomials in terms of the weighted Stirling numbers of the second kind.

Theorem 2.1. The following relationship holds:

$$
\begin{equation*}
A_{n}^{(\alpha)}(x \mid \lambda)=\sum_{k=0}^{n}(\alpha)_{k}(\lambda-1)^{n-k} \mathcal{S}_{n}^{k}\left(\frac{x}{\lambda-1}\right) \tag{2.1}
\end{equation*}
$$

Proof. From (1.4), we have

$$
\begin{aligned}
\sum_{n=0}^{\infty} & \left(\sum_{k=0}^{n}(\alpha)_{k}(\lambda-1)^{n-k} \mathcal{S}_{n}^{k}\left(\frac{x}{\lambda-1}\right)\right) \frac{z^{n}}{n!} \\
& =\sum_{k=0}^{\infty} \frac{(\alpha)_{k}}{(\lambda-1)^{k}}\left(\sum_{n=k}^{\infty} \mathcal{S}_{n}^{k}\left(\frac{x}{\lambda-1}\right) \frac{((\lambda-1) z)^{n}}{n!}\right) \\
& =e^{x z} \sum_{k=0}^{\infty}(\alpha)_{k} \frac{1}{k!}\left(\frac{e^{(\lambda-1) z}-1}{\lambda-1}\right)^{k} .
\end{aligned}
$$

Since

$$
\sum_{n=0}^{\infty}(a)_{n} \frac{z^{n}}{n!}=(1-z)^{-a}
$$

we get

$$
\begin{aligned}
\sum_{n=0}^{\infty} & \left(\sum_{k=0}^{n}(\alpha)_{k}(\lambda-1)^{n-k} \mathcal{S}_{n}^{k}\left(\frac{x}{\lambda-1}\right)\right) \frac{z^{n}}{n!} \\
& =e^{x z}\left(1-\frac{e^{(\lambda-1) z}-1}{\lambda-1}\right)^{-\alpha} \\
& =\sum_{n=0}^{\infty} A_{n}^{(\alpha)}(x \mid \lambda) \frac{z^{n}}{n!}
\end{aligned}
$$

which gives, by identification, the desired result.

As a consequence of Theorem 2.1, for $x=r$ and $\lambda=m$, we have

$$
A_{n}^{(\alpha)}(r \mid m)=\sum_{k=0}^{n}(\alpha)_{k} W_{m-1, r}(n, k)
$$

In particular, for $m=2$ in this last identity, we obtain

$$
A_{n}^{(\alpha)}(r \mid 2)=\sum_{k=0}^{n}(\alpha)_{k} S_{r}(n+r, k+r)
$$

which, for $r=0$, yields Boyadzhiev's identity for general geometric numbers $\omega_{n, \alpha}(1)$ [ $\mathbf{2}$, equation (3.24)].

The tangent numbers $T(n, k)$ of order $k$ are defined by the following generating function (see $[\mathbf{6}, \mathbf{9}]$ ):

$$
\tan ^{k}(u)=\sum_{n=k}^{\infty} T(n, k) \frac{u^{n}}{n!} .
$$

As mentioned by Cvijović $[\mathbf{1 1}, \mathbf{1 2}]$, these numbers appear to be insufficiently investigated, and the explicit formula for $T(n, k)$ is presumably still unknown.

Now, by using the Frobenius-type Eulerian polynomials $A_{n}^{(k)}(x \mid \lambda)$ of order $k \geq 1$, we provide an explicit formula for $T(n, k)$.

Theorem 2.2. It is asserted that

$$
\begin{equation*}
T(n, k)=i^{n-k}\left[(-1)^{k} \delta_{n, 0}+\sum_{j=1}^{k}(-1)^{k-j}\binom{k}{j} A_{n}^{(j)}(-1)\right], \tag{2.2}
\end{equation*}
$$

where $\delta_{i, j}$ denotes the Kronecker symbol.
Proof. Since

$$
\begin{aligned}
\tan ^{k}(u) & =\frac{1}{i^{k}}\left(\frac{2}{1+e^{-2 i u}}-1\right)^{k} \\
& =\frac{1}{i^{k}} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j}\left(\frac{2}{1+e^{-2 i u}}\right)^{j}
\end{aligned}
$$

by setting $x=0, \lambda=-1$ and $z=i u$ with $i^{2}=-1$ in (1.1), we obtain

$$
\left(\frac{2}{e^{-2 i u}+1}\right)^{k}=\sum_{n=k}^{\infty} i^{n} A_{n}^{(k)}(-1) \frac{u^{n}}{n!} .
$$

Therefore, we have

$$
\begin{equation*}
\sum_{n=k}^{\infty} T(n, k) \frac{u^{n}}{n!}=\sum_{n=k}^{\infty}\left(i^{n-k} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} A_{n}^{(j)}(-1)\right) \frac{u^{n}}{n!} \tag{2.3}
\end{equation*}
$$

Comparing the coefficients of $u^{n} / n$ ! on both sides, we obtain the desired result.

If $k=1$, then equation (2.3) reduces to the well-known formula:

$$
T(n, 1)=i^{n-1} A_{n}(-1), \quad n \geq 1
$$

In the same manner, we obtain

$$
\begin{gathered}
E(n, k)=(-i)^{n} A_{n}^{(k)}(-k \mid-1) \\
\widetilde{T}(n, k)=i^{k-n} T(n, k)
\end{gathered}
$$

and

$$
\widetilde{E}(n, k)=A_{n}^{(k)}(-k \mid-1)
$$

where $E(n, k), \widetilde{T}(n, k)$ and $\widetilde{E}(n, k)$ are the coefficients of $\sec ^{k}(u)$, $\tanh ^{k}(u)$ and $\operatorname{sech}^{k}(u)$, respectively.

Now, in what follows, we propose a three-term recurrence relation for the calculation of the Frobenius-type Eulerian polynomials. First, by setting $x=0$ in Theorem 2.1, we obtain the following explicit formula for the Frobenius-type Eulerian numbers:

$$
A_{n}^{(\alpha)}(\lambda)=\sum_{k=0}^{n}(\alpha)_{k}(\lambda-1)^{n-k} S(n, k)
$$

and, by the Stirling transform (see $[\mathbf{1 8}, \mathbf{1 9}]$ ), we obtain

$$
\frac{(\alpha)_{n}}{(\lambda-1)^{n}}=\sum_{k=0}^{n} s(n, k) \frac{A_{k}^{(\alpha)}(\lambda)}{(\lambda-1)^{k}}
$$

Next, it is convenient to introduce the sequence $\mathcal{M}_{n, m}^{(\alpha)}(\lambda)$ with two indices defined by

$$
\begin{equation*}
\mathcal{M}_{n, m}:=\mathcal{M}_{n, m}^{(\alpha)}(\lambda)=\frac{(\lambda-1)^{m}}{(\alpha)_{m}} \sum_{k=0}^{m} s(m, k) \frac{A_{n+k}^{(\alpha)}(\lambda)}{(\lambda-1)^{k}} \tag{2.4}
\end{equation*}
$$

with $\mathcal{M}_{0, m}=1$ and

$$
\mathcal{M}_{n, 0}=A_{n}^{(\alpha)}(\lambda)
$$

Theorem 2.3. The sequence $\mathcal{M}_{n, m}^{(\alpha)}(\lambda)$ satisfies the following threeterm recurrence relation:

$$
\begin{equation*}
\mathcal{M}_{n+1, m}=(\alpha+m) \mathcal{M}_{n, m+1}+m(\lambda-1) \mathcal{M}_{n, m} \tag{2.5}
\end{equation*}
$$

with the initial sequence given by

$$
\mathcal{M}_{0, m}=1
$$

Proof. From (1.3) and (2.4), we have

$$
\mathcal{M}_{n, m+1}=\frac{(\lambda-1)^{m+1}}{(\alpha)_{m+1}} \sum_{k=0}^{m+1}[s(m, k-1)-m s(m, k)] \frac{A_{n+k}^{(\alpha)}(\lambda)}{(\lambda-1)^{k}} .
$$

After some rearrangement, we find that

$$
\mathcal{M}_{n, m+1}=\frac{(\alpha)_{m}}{(\alpha)_{m+1}} \mathcal{M}_{n+1, m}-\frac{m(\lambda-1)(\alpha)_{m}}{(\alpha)_{m+1}} \mathcal{M}_{n, m}
$$

This completes the proof of Theorem 2.3.

Now, we consider the polynomials $\mathcal{M}_{n, m}^{(\alpha)}(x, \lambda)$ defined by

$$
\mathcal{M}_{n, m}(x):=\mathcal{M}_{n, m}^{(\alpha)}(x, \lambda)=\sum_{k=0}^{n}\binom{n}{k} \mathcal{M}_{k, m}^{(\alpha)}(\lambda) x^{n-k}
$$

It is obvious from (1.2) that

$$
\mathcal{M}_{0, m}^{(\alpha)}(x, \lambda)=1
$$

and

$$
\mathcal{M}_{n, 0}^{(\alpha)}(x, \lambda)=A_{n}^{(\alpha)}(x \mid \lambda)
$$

Finally, we obtain the above mentioned three-term recurrence relation.

Theorem 2.4. The polynomials $\mathcal{M}_{n, m}^{(\alpha)}(x, \lambda)$ satisfy the following threeterm recurrence relation:

$$
\begin{equation*}
\mathcal{M}_{n+1, m}(x)=(\alpha+m) \mathcal{M}_{n, m+1}(x)+(m(\lambda-1)+x) \mathcal{M}_{n, m}(x) \tag{2.6}
\end{equation*}
$$

with the initial sequence given by

$$
\mathcal{M}_{0, m}(x)=1
$$

Proof. It is readily seen that

$$
\begin{aligned}
x \frac{d}{d x} \mathcal{M}_{n, m}(x)= & n \sum_{k=0}^{n}\binom{n}{k} \mathcal{M}_{k, m}^{(\alpha)}(\lambda) x^{n-k} \\
& -n \sum_{k=0}^{n-1}\binom{n-1}{k} \mathcal{M}_{k+1, m}^{(\alpha)}(\lambda) x^{n-k-1} .
\end{aligned}
$$

By using (2.5), we obtain

$$
\begin{aligned}
x \frac{d}{d x} \mathcal{M}_{n, m}(x)= & n \mathcal{M}_{n, m}(x)-n \sum_{k=0}^{n-1}\binom{n-1}{k}\left((\alpha+m) \mathcal{M}_{k, m+1}^{(\alpha)}(\lambda)\right. \\
& \left.+m(\lambda-1) \mathcal{M}_{k, m}^{(\alpha)}(\lambda)\right) x^{n-k-1}
\end{aligned}
$$

After some manipulations, we find that

$$
\begin{aligned}
x n \mathcal{M}_{n-1, m}(x)= & n \mathcal{M}_{n, m}(x)-(\alpha+m) n \mathcal{M}_{n-1, m+1}(x) \\
& +m(\lambda-1) n \mathcal{M}_{n-1, m}(x),
\end{aligned}
$$

which is obviously equivalent to (2.6).
3. Conclusions. In our present investigation, we have proved a number of explicit formulas and explicit representations associated with the Frobenius-type Eulerian polynomials in terms of the weighted Stirling numbers of the second kind. As a consequence of some of the results presented in this paper, we have deduced an explicit formula for the tangent numbers of higher order. We have also given a recursive method for the calculation of Frobenius-type Eulerian numbers and polynomials.

## REFERENCES

1. M.A. Boutiche, M. Rahmani and H.M. Srivastava, Explicit formulas associated with some families of generalized Bernoulli and Euler polynomials, Mediterr. J. Math. 14 (2017), 1-10.
2. K.N. Boyadzhiev, A series transformation formula and related polynomials, Inter. J. Math. Math. Sci. 23 (2005), 3849-3866.
3. A.Z. Broder, The r-Stirling numbers, Discr. Math. 49 (1984), 241-259.
4. L. Carlitz, Eulerian numbers and polynomials, Math. Mag. 32 (1958/1959), 247-260.
5. $\qquad$ Eulerian numbers and polynomials of higher order, Duke Math. J. 27 (1960), 401-423.
6. L. Carlitz, Permutations, sequences and special functions, SIAM Rev. 17 (1975), 298-322.
7. $\qquad$ , Weighted Stirling numbers of the first and second kind, I, Fibonacci Quart. 18 (1980), 147-162.
8. $\qquad$ , Weighted Stirling numbers of the first and second kind, II, Fibonacci Quart. 18 (1980), 242-257.
9. L. Carlitz and R. Scoville, Tangent numbers and operators, Duke Math. J. 39 (1972), 413-429.
10. J. Choi, D.S. Kim, T. Kim and Y.H. Kim, A note on some identities of Frobenius-Euler numbers and polynomials, Inter. J. Math. Math. Sci. 2012 (2012), 1-9.
11. D. Cvijović, Derivative polynomials and closed-form higher derivative formulae, Appl. Math. Comp. 215 (2009), 3002-3006.
12. $\qquad$ , The Lerch zeta and related functions of non-positive integer order, Proc. Amer. Math. Soc. 138 (2010), 827-836.
13. B.N. Guo, I. Mezö and F. Qi, An explicit formula for Bernoulli polynomials in terms of $r$-Stirling numbers of the second kind, Rocky Mountain J. Math. 46 (2016), 1919-1923.
14. D.S. Kim and T. Kim, Some new identities of Frobenius-Euler numbers and polynomials, J. Ineq. Appl. 2012 (2012), 1-10.
15. B. Kurt, A note on the Apostol type $q$-Frobenius-Euler polynomials and generalizations of the Srivastava-Pintér addition theorems, Filomat. 30 (2016), 6572.
16. I. Mezö, A new formula for the Bernoulli polynomials, Result. Math. 58 (2010), 329-335.
17. M. Mihoubi and M. Rahmani, The partial r-Bell polynomials, Afrika Mat. (2017), 1-17.
18. M. Rahmani, Generalized Stirling transform, Miskolc Math. Notes 15 (2014), 677-690.
19. $\qquad$ , Some results on Whitney numbers of Dowling lattices, Arab J. Math. Sci. 20 (2014), 11-27.
20. H.M. Srivastava, Eulerian and other integral representations for some families of hypergeometric polynomials, Inter. J. Appl. Math. Stat. 11 (2007), 149-171.
21. $\qquad$ , Some formulas for the Bernoulli and Euler polynomials at rational arguments, Math. Proc. Cambr. Philos. Soc. 129 (2000), 77-84.
22. $\qquad$ , Some generalizations and basic (or $q$-) extensions of the Bernoulli, Euler and Genocchi polynomials, Appl. Math. Inf. Sci. 5 (2011), 390-444.
23. H.M. Srivastava and J. Choi, Series associated with the zeta and related functions, Kluwer Academic Publishers, Dordrecht, 2001.
24. $\qquad$ , Zeta and q-zeta functions and associated series and integrals, Elsevier Science Publishers, Amsterdam, 2012.

University of Victoria, Department of Mathematics and Statistics, Victoria, British Columbia V8W 3R4, Canada and China Medical University, China Medical University Hospital, Department Of Medical Research, Taichung 40402, Taiwan, ROC<br>Email address: harimsri@math.uvic.ca<br>USTHB, Faculty of Mathematics, P.O. Box 32, El Alia 16111, Bab Ezzouar, Algiers, Algeria<br>Email address: mboutiche@usthb.dz<br>USTHB, Faculty of Mathematics, P.O. Box 32, El Alia 16111, Bab Ezzouar, Algiers, Algeria<br>Email address: mrahmani@usthb.dz


[^0]:    2010 AMS Mathematics subject classification. Primary 11B68, 11Y16.
    Keywords and phrases. Algorithm, Frobenius-type Eulerian polynomials, tangent numbers, explicit formulas, recurrence relations, Stirling numbers of the first and second kind, Whitney numbers of the second kind.

    Received by the editors on May 25, 2017, and in revised form on June 14, 2017.

